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[ERFZIE %
I| s 1] K 51,168,370 1 &K 58,853,365 7,684,995 HE%H
[ERZENE X g 51,168,370 58,853,365 7,684,995 1%
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I| @R 1] 1,978,274 1 &K 2,164,952 186,678 HY%H
| BUGEIRE 1] K 4,614,455 1 K 5,035,260 420,805 | H4%A
— R 1 =K 8,034,568 1 = 9,062,550 1,027,982 | HE%H
IEEE 14,627,297 16,262,762 1,635,465 Ha%A
&t 65,795,667 75,116,127 9,320,460 HI%H
A% T 65,795,000 75,116,000 9,321,000 H4%E
T & Bl S H 4 %A 6,579,500 7,511,600 932,100 1%
WA (LFEE) 72,374,500 82,627,600 10,253,100 H4%F
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1 (B R LHE 1 K 7,936,477 1 K 7,936,477
2 |BhkdE 1 K 9,999,913 1 K 9,999,913
3 PhEESUE 1 K 9,115,368 1 K 10,896,579 1,781,211 #9%4
4 |BE%E 1 K 5,048,966 1 K 5,048,966
5 |@BEEduE 1 K 152,750 1 3L 152,750
6 |fids -y E 1 K 3,471,088 1 K 5,133,238 1,662,150 H4%H
(D JER N AK)
1 (B R LF 1 K 1,808,269 1 3 1,808,269
2 |BhkdE 1 K 3,159,895 1 K 3,159,895
3 PhEESUE 1 K 6,945,998 1 K 7,894,832 948,834 H4%H
4 |BE%E 1 K 84,710 1 K 84,710
5 |@BEEduE I 572,124 1 3L 572,124
6 |ZOfth TF 1 K 85,170 1 K 85,170
T |k 1 K 2,787,642 1 K 6,080,442 3,292,800 HE%H
At 51,168,370 58,853,365 7,684,995 HE%H




